T BT 101 7 e SRR
%‘?ﬁbWﬂﬁw<um*#@>

_ f FARTSRE s - FaR 2 FT TGN 0 Tm g 30 9n
DO HORE SRR R (I AT
= 3%:7 i ErAsnd
(-~ >r:“* I 3 -
(Z) 159 ’* il E N (s R T’@r
1. éﬂikﬁr_______(ﬂl— P~ 2 ?E%W_JL_?E?E_JL_
2. JFHLHGREG 17 @j
3. UFA ﬁ?ﬁ&ﬂfﬁ“*%f—
‘4ﬂ@¥%ﬁwﬂ¥#ﬁB%VWﬁ%EU%Vﬁ? 2 *
=) EHF fkﬁﬁﬁﬁm%ﬁf

R TERY e :
2. AT ﬁ% 14 i
3. (0= PSP L
(Q*FRF A 2 SRS B0
(@W%ﬂ?ﬂ%ﬁ@ﬂ?*% % 0 *

(A)E s (BT ETRUN)
W“>ﬁ®ﬂﬁbﬁf'Fkﬁﬁiiiﬁnﬁﬁiﬁr
1' ng : hghe— A

—f‘[j

—}\nf[ WF'IFQTH_
3. ARSRFESE 0 *
o R SRS g0
(@ﬁ'fﬁﬂ—ﬂﬂ%lTE“ﬁg S
(AE P G RN

o
-

)

P~ %Q;:‘ﬁ#yw:";ﬁﬁ [“f}'[* Eﬂ« GREURE %iﬁ&ﬁ%ﬁ?ﬂ%?ﬁﬁ&ﬁ%ﬂ 33 %
S /][7%%? ur[ayﬁﬁ FeHGHE TVE]\T E;r (& ?ﬁﬁul%L)
T~ SRRSO AT RSP IS CRRRE R SRR
5 % L Har
BERBREE  FREEFIAAFLEEFEYRE REIFLAHEY B4
ﬂ\‘f& ’?w FLTI
25 4
1 |MpmEE (RE ~722%) 9
Mo & pRAFFT ~ o adp 3l S (B & g 1Y)
lz{ﬁ—‘\:ﬁ\"%'\ﬂﬂ-‘ -5 ‘B%‘“f")m T‘?\?'Eﬁ’ﬂ"%‘pﬂ.</ ‘}%)E.)
M%% 2+ 9T
M @ ®F G LU 5% 2K
BB EY SR EFEY R
9 G A
1. 2315 F 0% P - §FEFFRPEE Y Ffe—FF € 353
2. - AMBEF--FFELE A2 AR
3 * ERERF AR EFIPFREFEZEY 2
MR A




= - H =
FrERFREEEY RS
PER E ﬁﬁ“’%%féf"i R BRFTY SR
4 AF 5
100 &= 8 * bﬁ?i“—ﬂ% FTERY EITEMEEFL LY
PEE L EFEY A b © I;%?#Iﬁl*#i"—’#’hi(ﬂ)féﬁv N
QE—T—"?‘J T2 it pE T EdfFkRy T EERE @’J:
A ’%F"T
l. A3 22 B €78 "5;‘*@'“7}*@]
5 21005&10” 24 p R EFRBEEFREE R
3.100 & 12 * 23 p B {7 PRk 3F i 3
4100 # 1% 12 p F FH &35 100 £ 3
5. 101 # 4 16 p B eigimd F
6.101 # 6 * 2 p ifﬁ"?ﬂ};#é%é’@rii”%
7101 #6 " 1TpEFTEHEF 1003—?”%
F%fiméﬁﬁﬁp(fﬁpﬁ B RRE)
p | MHEEE
1.E? soH §wf-2FAH 4
235%%% B! %\j‘f‘fﬁ.—téﬁﬁi&
WA ST E o EL B Y g R %
7"1‘ F oA
7 .= ~=2#52&/8 £/100.10.3~101. 1. 12 % 4 & /44 | ¥ 42d4p H (36 = 373D
2. - Fljpz 231/8 £ /100.10.23~100.12. 29 % 4 & /4% B =] i %\# 5@(%‘3’“)
3.2 ~ZEBRE/8 4/101.03.3~101. 1. 12 % 4 & /44 B | ¥ 42 dp %(%iaé
4, - &% fp =231/8 £ /100.03.23~100.12. 29 % 4 & /44 B 5 %\#gﬁ-(%i&ﬂ
- B IPHFEF 4IRS FE- A K EB x5 ZER =
8 | AR WA
- BRI RAEE - £ 3 K- EBm 3 X cZEm () =
—Eg Rt rREE-£K % -E&m  xizEm =
9 R T
- EY YT R vRIEE - () S - Es () fizEm (=
10 FREELETARIPBHEFI S, (B2 5 R ERELMGE)
AFEF R
1 BN B EFTRFPBPPEZRE S on R F EREIRRY
AF T R
o | TERRIRL AR Rk M EY SR EEBE B E YL AR
AR EHEA &
BRABFHRIFEERENS  BICEBFRFSATELERAS > ZFHT S
FFE S 7{&4 3 vk
MR A
13 |14+ - > 'E&ﬁﬁi*%t RBE 6 /BN EE TR R
2. A T Jﬂﬂ’lﬂd‘% F% ?I.—;‘ffﬁﬁ‘%v‘i"f F‘(‘Fi‘aécr’y"‘/'?k?:?#ﬁggmp&%&°
el ’&9‘,’?5 LF TR R giﬁ RE AR LT ’v"“\%\‘;’i‘ﬁiiiﬁﬁé
§4Fm ph*’%\aﬁ‘»"i"éii; g ? e
Sp it B Y RKEFZ ABRER Y ‘;uiix?g‘%?'zéﬁ‘% FHFA TN E KA KPR
AL A
.1 4 /100/8/22/ ¢ 100 # 2 BFRE S F WY 2B @ Kt ¢
£ /100/9/2/7 B R 100 B E R % - B i B Z LAY
14 A/100 /9 /9/ B 1008 ER Y- B % 28 my

3
3
3 4/100/9/30/7 B B¥ 100 £ & & 5 - £ % 3 5 EF AR Y
2 4/100 /10 /T/R® #5444 $W/100 £ B R ¥ 535 5 ~m B8 LR KT Y
347100 /10 /28/7 AR * 100 B2 & 5 - S5 4 % HFAHBEY
34/101 /1 /1T/7 KW 100 £ & & %= £9 % | 408 % 56 &
3 4/101 /1 /30/7 BB 100 &R % - FH 5 2 K AER & 356 ok

PN L=




% =% i B
9 3 A /101 /3 /1/,/%Wv‘ 100 %ﬁﬁ;%«v B mFay - AR € R
R HREPAET CFN X2 FRE LA CFFRE W2 EE

15 j\ﬁfg’ 3 A5
B A ﬁﬁﬁ'ﬂ?’f?* FRFLEE YR, I W22 ERE 1L - ERERE 92 F
3 _th
1017 A f}\nnzﬁﬁwfﬁ‘/fﬂ b Al -

16 AILF A
https.//sites.qgoogle.com/site/sljhenglish/
Hwgd

17 d\Jf& x5 F—ﬂ

1. 2 ’é{;tifé Us

BERa




